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Questions

Animal's dung

Turkey's Angora goat is

In Mangolia, Tibit, Sin kiang and Central Asian countries, rearing

In the world, from agriculture earned from animals

In the world, rearing started

In the continents of Europe, Australia and America's

In underdeveloped countries herding is

Nomadic herding, from primitive periods in rain-fed regions

In Western developed countries people got their diet's

Basic purpose of domesticating animals is

Most beneficial animal of Tundra region is

Perhaps first domesticated animal was

In developed countries rearing has

Rearing or herding is a

Answers Choice

A. Is best fertilizer for maintaining soil
fertility

. Is not important for soil

. Has little importance for soil

. Is not used for soil fertility

[oe]

C

D

A. Famous for milk

B. Important for meat

C. Famous for her silky hair wool
D. Not famous for anything
A
B
C
D

. Is done in nomadic manner

. Is practice is commercial way
. Is a limited activity

. Is not being practiced

A. Only 5 percent is being earned
from animals

B. Animal contribute a little

C. 28% contribute animals

D. A major portion is contributed by
animals

A. From Central Asian 's mountain
&amp; desert areas

B. From Russian Federation

C. From Japan

D. From Canada

A. Nomadic rearing is being practice
B. Commercial rearing is being done
C. Poor people practice rearing

D. Rearing is done by majority
people

Being done in Commercial manner
Being done in nomadic nammer
Very little important

Being done by rich people

Is people's major occupation
Rearing has no importance

Has not became major occupation
Is only profession of few people

No percentage from animals
20-33 percent from animal

Only 5 percent from animal

Very little percentage from animal

Transporting goods
Riding

For diet or food
Use as a draught

Camel
Horse
Cow
Reindeer

DOWP TOWP» UOWP UOWr TOWR

. Elephant
. Cat

. Dog

. Horse

. Becomes an industry
. Not any considerable progress
. Progressed very slowly

. Primary economic activity

. Secondary economic activity
C. Quinary economic activity
D. Quaternary economic activity

A
B
C
D
A. Not any progress
B
C
D
A
B



B. Becomes slow
C. Becomes very slow
D. Becomes at zero level

15 With the increase of temperature evaporation from plants



